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¢ M amino acid TR EYBRE__ 2 HH—H—ERELERHE
REVEREDE -

. m*ﬁﬁﬁﬁﬁﬂgﬁﬁmﬁ ___(_).____ » A reaction that two monomers
bond together through the loss of a water molecule is called 4) .

o The diffusion of water across a selectively membrane is called 5).

¢ There are two major populations of membrane protein. Thevproteins penetrate the
hydrophobic core of the lipid bilayer is _(6),and )
are appendages loosely bound to the surface of the membrane.

¢ During prophase I of cell cycle, replicated chromosome homologs pair up and
become physical connected along their Iength_s by a zipper-like protein structure,
this process is called (8). Genetic rearrangement between
nonsister chromatids, known as _ 9. |

~ & An ordered list of genetic loci along a particular chromosome is called a
(10).
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1. phagocytosis and pinocytosis

2. maturation-promoting factor (MPF) in cell cycle

3. Watson and Crick’s semiconservative model of DNA replicatibn (DNA ﬂﬂﬁgﬁ
-0} o

4, complete dominance and incomplete dominance

5. Okazaki fragment in lagging strand of DNA replication & R & F

‘1. Where is the active site of photosynthesis? What is the process of light reactlon
- and Calvin cycle? dfH:#E C3 C4 - CAM EYRIZRE 77)

2. The formation of protein is a complex process including transcription, translation.
What is the three stages of transcription and their mechanisms? What is the RNA
splicing processes? How the synthesis of a polypeptide in translation? (7 43)
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(a.cytonine b.adenine c. calcitonin  d. throxine ?)
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endoskeleton  b.nonskeleton  c. exoskeleton  d. hydroskeleton )y > 4
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a( )RR B S 9p ke s 4k 2 mature follicle 2k} + & & hormone
A (a.LH b.GH c.TSH d FSH?)#¥ *
b.(  )# %A Corpusuteum RI% % hormone(a.LH b.GH «c.TSH
. AFSH?))MBERK - |
7.( )For the homeostasis of human body system , the human blood sugar is
maintaing about (a.90mg/ mi b. 90mg/100m1 c. 190mg/mmHg

~ d. 190 mg/100 mmHg),
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8.( )The hydra digestion method is (a. extracellular  b. intracellar

c.bothofa&b d. alimentary ) digestion
9. Endothermy animals are

a.( ) (a. produce body heat from body core  b. living in the water.  c. body
temperature supply from environment d. living on the land .)
b ) main belonging to (a. Phyllum Nematode b. Phylium Athropoda

c. Subphyllum Vertebrate  d. Subphyllum Hemicordate )

10.In nerve cell,

a.( ) its’ resting potential is (a. 20mV .70 mV c¢. -70mV  d.-20mV)

by ) if it stimulate , begin to (a.polarization  b. depolarization c. répolaﬂzaﬁqn

d. hyperpolarization ) '
e ) stimulate to action potential ,need about (8. 20mV 5.70 mV c.-70mV
d. -20mV ) potential .
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1. Countercurrent respiration :

2. Intermediate host of parasite.

3" Environmental capacity :

4. Light chain and heavy chain of antibody
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